Question One (26 points) Circle the most correct answer:
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3. Suppose the change on a temperature of a hot cup obeys to Newton’s law of cool-
" ing. The hot cup initially has a temperature of 100F and brought to a room with
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‘time of a radioactive material is In8 years. After In64 years, this mate-
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9. If y(x) solves the IVP: y —y2 4y =0, y(0) = —1, then, gim}r(x} s
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13. The solution of the IVP y/ —3y—9=0,y(0) = 11s
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Question Two (7 points) Find an explicit solution for the IVP: ﬂ/
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Question Four (9 points) Given the IVP: / f, L ';
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(1) Find the unique solution /
(2) Find the interval where the solution is defined F
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Question Five (10 points) A tank of capacity 200 gal has initially 0.1 gm of toxic astes 1’
dissolved in 80 gal of water. Water with toxic wastes starts flow into thr:: tank at rate 4[ L /

gal/min and flow out at rate 2 gal/min. The incoming water contains z L gm/gal W
wastes.

(a) Write IVP that models the change of toxic wastes in the tank over time.

(b) Find the amount of toxic wastes in the tank at any time.

T gof /n », (c) Find the amount of toxic wastes in the tank when it becomes to overflow.
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